O 26

B

# # W X R B A R =K

OEBEEE> B FR265481H E F27438318
EF27438318
(BT FH)
B e H B — j& U B EHHA - :‘* HEYE
[ E TR Ry = (H th—B§) (X E B IFRD <R > = 8 (Bl ch—B%)
[(BaAZEFNA] 0 0 [EHEREHDSERA] 0 0
IR BIRA 0 __ | mERERATSRA 0 0
BEEEEFARMABRRA 0 _ e EmETHSEAL 0 0
BE/RRERESERA 0 0 A EEEHEFTEIRA 0
<R SEE> 0 N | [[EREEsiAl 0
_ <Fo{tAiEE> 0 g TR ALT (4) 0 0
[BEhFEEFIA] 68,990 68,990 il [(BREEREXH] 0 0
BHIEZEIA §7.380 67,380 £ BMREE 0
oA BERESIA 1,610 1,610 o BB EREEY 0
ZTORDBHESIA 0 0 Shxl EREREREEE 0
<EREERTELEXRIE> 0 1z HEESIEEH 0
<A —CASHBREERE> 0 % | RIS R 0
Iy <BIRBEEETILHRRE> 0 | YIRS TP REX 0
<HERBITEEERE> 0 [TAZEH] 0
[EEEGHBEFEIEAL 0 0 FEEREEE L ET (5) 0 0
A VAT FRERA o ERERS AR X E® (6)=(4)-(5) 0 0
MUERIRA 0 | [EIESEEIRAL 0 0
EESHEENA 0 #lm]  EBRTEBUBESRERA 0 ]
[FHEIRAL ] 0 FEIA BRI EEERAERA 0 0
FHBIA 0 2 BB AR () 0 0
(IR A 498 498 £ S| RTBERURM] L g 0
HULA 498 498 B TETHRIESHIRY 0
[ZRABEREEIAL 0 0 4% B R & ¥ 0
STFBES SR A 0 X B ERRSNEEE(9)=(7)-(8) G 0
SHEGERASRA] 0 0 T 18 & (10) o
[REESEEASINAL , 0 0] LA EEAH (11)=(3)H{81+(9)-(10) 22,368 22,368
RERSEBASIA 0
By W A (D 69,488 69,488 HMRTLESRS A 91,991 A 91,991
% [ABETH - F2] ] 42,917 42,917 HHETILESEDS A 69,623 A 69,623
' - mESEKE 00 14,068 14,068
w | mAEsFH 0 | 11804 11894
EHEERT B 1194] 0 11,194
Al BRES@ED) of T T
% ERFNE 0
 EREENE 5761 5761
1<) |[(EsE=W] 42 42
r EREEE 0
WEBE o
F BHs# - 0 o
HEAE ~ 0
i BAHEE 0
= ENRIE R 6
REXBE 42 4z
ERE 0
% BEERE of
=HEE 0
EBRE 0
e FHH 0
EEREH 0
i FiaH 0
- HRAR of
Ery of
 RE N 0
Hllggmed) 4,181 4,161
waz 2,244 2.244
| RREEER ~ 424 424
BEIRESR 156 156
_BRSE - 0
 kiERmE 0
o3 Sl 941 941
_EmRER 85 95
 REORE 23 23
I - £ L o
 EEIIRE 200 ) 200
| FERHERER 0 N
| MR 78 78
(S EEMRASEH] of
[FERAREHEASZH] _ 0 0
RERSEBAERS 0
s . e ¢ 47,120 47,120
EEEDESEXEHE(3)=(1)-(2) 22,368 22,368




